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2 GEOGRAPHY P2 (EC/NOVEMBER 2022)

INSTRUCTIONS AND INFORMATION

1. This question paper consists of TWO SECTIONS:
SECTION A:
QUESTION 1: DEVELOPMENT GEOGRAPHY (60)
QUESTION 2: RESOURCES AND SUSTAINABILITY (60)

SECTION B:
QUESTION 3: GEOGRAPHICAL SKILLS AND TECHNIQUES (30)

2.  Answer all THREE questions.

3. ALL diagrams are included in the QUESTION PAPER.

4. Leave a line between subsections of questions answered.
5.  Start EACH question at the top of a NEW page.

6. Number the answers.correctly according to the numbering system used in this
question paper.

7. Do NOT write in the margins'of the ANSWER BOOK.
8.  Draw fully labelled diagrams when instructed to do so.

9. Answer in FULL SENTENCES, exceptwhen you have to state, name, identify
or list.

10. Units of measurement MUST be indicated in.your final answer, e.g. 1 020 hPa,
14 °C and 45 m.

11.  You may use a non-programmable calculator.

12. You may use a magnifying glass.

13. Write neatly and legibly.

SPECIFIC INSTRUCTIONS AND INFORMATION FOR SECTION B

14. A 1 :50 000 topographic map 3319 AD CERES and a 1 : 10 000 orthophoto
map 3319AD 12 CERES is provided.

15. The area demarcated in RED/BLACK on the topographic map represents the
area covered by the orthophoto map.

16. Show ALL calculations. Marks will be allocated for this.

17. You must hand in the topographic and the orthophoto map to the invigilator at
the end of this examination session.
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SECTION A: DEVELOPMENT GEOGRAPHY AND RESOURCES AND
SUSTAINABILITY

QUESTION 1: DEVELOPMENT GEOGRAPHY
1.1 Choose a term from COLUMN B that matches the description in COLUMN A.

Write ONLY the letter (A—H) next to the question number (1.1.1 to 1.1.7), for
example 1.1.8 I.

COLUMN A COLUMN B

1.1.1  The development of industries in a|A  globalisation
country

1.1.2 Located in LEDC’S where resources | B  foreign trade
are cheap and wages are low

1.1.3 Involves the movement of goods, | C  multiplier effect
services, /capital, ideas and people
around the‘world

1.1.4 Exchange of goods between countries| D  sustainable development
1.1.5 Anincrease in activity and investment | E  industrialisation
in one area triggers off-activity and

investment in other areas

1.1.6 Countries generally located..in+«the | F  developing
north with high income

1.1.7 Balances economic, social and G\, transnational corporations
environmental objectives

H developed

(7x1) (7)
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1.2  Various options are provided as possible answers to the following questions.
Choose the answer and write only the letter (A—D) next to the question numbers
(1.2.1 t0 1.2.8) in the ANSWER BOOK, for example 1.2.9 A.

1.2.1

1.2.2

1.2.3

1.2.4

1.2.5

1.2.6

A Gini co-efficient score of 0,8 indicates ...

A
B
C
D

an unequal distribution of wealth in a country.
the worst possible quality of life.

the almost perfect quality of life.

a more equal distribution of wealth.

Balance of trade is the ...

A
B
C
D

taxes placed on imported goods.

financial statement of a country’s transactions.
value of a country’s imports and exports.
restriction on imported goods.

Demographic indicators include ...

A
B
C
D

birth and‘death rates.
food and nutrition.
water and electricity.
goods and services.

A disadvantage of globalisation is the ...

A
B
C
D

liberalisation of trade.

exchange of skills.

spread of Covid-19.

formation of global organisations.

China’s rapid economic development can be attributed to a(n) ...

A
B
C
D

succession of five-year plans.

policy of protectionism.

global workforce.

export-led approach to development.

The donation of vaccines to curb the spread of the covid pandemic is
an example of ... development aid.

OO w>

Copyright reserved

conditional
humanitarian
bilateral
technical
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1.2.7 A human development index of 0,8 indicates a ...
A good quality of life.
B  poor quality of life.
C  high birth rate.
D high death rate.
1.2.8 Combating the spread of HIV/Aids and Covid-19 are examples of
development from a ... context.
A local
B  regional
C community
D global (8x1) (8)
1.3  Refer to the cartoon below showing an economic indicator of development.
=
=7
%
&l’ 3 .3
B ] 1S THIS HUMAN
DEVELOPMENT?
[Source: Addisfortune.net]
1.3.1  What is GDP growth? (1x2) (2)
1.3.2 State the importance of GDP growth for a country. (1x1) (1)
1.3.3 Comment on the relationship between GDP growth and human
development. (1x2) (2
1.3.4 How does the cartoon portray a negative impact of GDP growth on
human development? (1x2) (2
1.3.5 Explain why this negative impact (your answer to QUESTION 1.3.4)
is prevalent in most countries. 2x2) (4)
1.3.6  Suggest strategies to improve human development in developing
countries. 2x2) (4)
Copyright reserved Please turn over
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1.4

Copyright reserved

Refer to the extract below on the initiative of the Perdekraal East Wind Farm
organisation.

THE PERDEKRAAL EAST WIND FARM COMMUNITY PROJECT

A community trust has been created and owns 2,5% of Perdekraal East Wind
Farm, which is invested in community social welfare development programmes
for the benefit of the beneficiary communities.

During the construction phase of Perdekraal East Wind Farm, the communities
had access to skills and training opportunities, as well as more job and
business opportunities than was previously available in the area.

During the operations phase, Perdekraal East Wind Farm will spend 2,8% of
its revenue on socio-economic welfare and 0,2% on local enterprise
development, within the beneficiary communities, for a period of 20 years.

The socio-economic development projects are focused on implementing
programmes within_the beneficiary communities of Ceres and neighbouring
districts with the aim/of'enabling upward social mobility.

These programmes and’ early childhood development initiatives help to
alleviate illiteracy; healthcare jnitiatives; community awareness campaigns;
infrastructure development; ‘women empowerment and youth are also
addressed.

Perdekraal East Wind Farm assists and’accelerates the sustainability of local
enterprises owned by previously disadvantaged people and women-owned
vendors. This programme allows for “business support and ensuring
sustainability.

[Adapted from hitps://perdekraaleastwind.co.za]

1.4.1 What is community development? (1x2)

1.4.2 According to the extract, how did communities in the area benefit
from the construction phase of the Perdekraal Wind Farm? (1x1)

1.4.3 State TWO focus areas of the community development projects that
benefited the social welfare of the community. (2x1)

1.4.4 Why is the monitoring of community-based projects for sustainable
development required? (1x2)

1.4.5 In a paragraph of approximately EIGHT lines explain why the
Perdekraal Wind Farm community project is important to the country’s
broader development aims. (4 x2)

(2)

(2)

(2)

(8)
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1.5 Refer to the extract below based on trading relationships.

BRICS A STRONGER BLOC FOR DEFENDING FREE TRADE

BRICS is an acronym for the developing nations of Brazil, Russia, India, and
China — countries believed to be the future dominant suppliers of manufactured
goods, services, and raw materials by 2050. China and India will become the
world’s dominant suppliers of manufactured goods and services, respectively,
while Brazil and Russia will becomessimilarly dominant as suppliers of raw
materials. As of 2010, South Africa joined the group, which is now referred to
as BRICS.

A meeting of the BRICS trade bloc made it clear that China, with a relatively
abundant supply capacity of medical resources, like vaccines, could effectively
help these countries come out of the pandemic as.sooen as possible. In the
entire history of the BRICS agreement, there has..never been a more
challenging time before for all five nations to divert resources.towards collective
action.

The meeting also addressed the concerns on the sweeping public health crisis,
the economic decline, and the rising unemployment rate, which pose a threat
to social stability. It believes that only through international cooperation and a
multilateralism agenda can we face our challenges.

Regarding the multilateral discussions, this meeting has represented a
powerful response to the recent unilateral actions of the United States. The
U.S.A. has also tried to encourage Brazil and India to downgrade the BRICS'
importance.

[Adapted from investopedia.com.]

Copyright reserved Please turn over
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1.5.1 Name the trade bloc referred to in the extract. (1x1) (1)
1.5.2 Name any TWO member countries of BRICS that are in the northern

hemisphere. 2x1) (2
1.5.3 What is trade protectionism? (1x2) (2)
1.5.4 How do the BRICS countries apply protectionism to look after the

interests of the trade bloc? (1x2) (2)
1.5.5 Why would a developed country like the United States favour a free

trade policy? (2x2) (4)
1.5.6 Explain how being a member of the BRICS trade bloc could assist

South Africa in recovering from the negative economic effects caused

by the Covid-19 pandemic. (2x2) (4)

[60]
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QUESTION 2: RESOURCES AND SUSTAINABILITY
2.1 Various options are provided as possible answers to the following questions.
Choose the answer and write only the letter (A—D) next to the question numbers
(2.1.t0 2.1.7) in the ANSWER BOOK, for example 2.1.8 A.
2.1.1  Desertification is a(n) ... agent of erosion.
A human
B  physical
C animal
D economic
2.1.2 Acidrainis a form of ...
A land pollution.
B  precipitation.
C air pollution.
D energy.
2.1.3 The Kyoto Pretocol requires South Africa to ...
A develop nuclear energy.
B  continue using coal to generate electricity.
C decrease industrialisation.
D develop renewable energy resources.
2.1.4 Uranium is a mineral that is necessary to produce... energy.
A  thermal
B  wind
C nuclear
D solar
2.1.5 Gullies or dongas are the effects of soil erosion caused by ...
A overgrazing.
B  strip cropping.
C afforestation.
D reforestation.
2.1.6  Solar power is a ... source of energy.
A non-renewable
B  renewable
C thermal
D conventional
2.1.7 The loss of soil is a factor that affects ...
A energy production.
B  river deltas.
C  droughts.
D food production. (7x1) (7)
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2.2 Choose the correct word(s) from those given in brackets which will make each
statement geographically CORRECT. Write only the word(s) next to the
question numbers (2.2.1 to 2.2.8).

2.2.1 (Downslope/Contour) ploughing can cause run off that contributes to
soil erosion.

2.2.2 Soil erosion is more prevalent in areas where (subsistence/commercial)
farming occurs.

2.2.3 (Biofuel/Geothermal) energy is developed from natural organic matter.

2.2.4 The only functional nuclear power station in South Africa is in the
(Western Cape/Eastern Cape).

2.2.5 The conventional energy source that adds the least to the electricity
grid in'South Africa is (gas/hydroelectricity).

2.2.6 (Afforestation/Overgrazing) reduces soil erosion caused by water and
wind.

2.2.7 Thermal power stations contribute to changes in the (economy/climate)

2.2.8 (Fallowing/Over cropping).is a farming practice that allows nutrients
and fertility to be restored. 8x1) (8)
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2.3

Refer to the extract below on soil erosion in the Amazon Rainforest.

The Amazon js.the world’s largest rainforest and the largest river basin on the
planet.

Today, the Amazon'is facing a multitude of threats as a result of unsustainable
economic development:20% of the Amazon biome has already been lost, and
the trend will worsen if left.-tnchecked, with erosion being the major concern.

The logging and clear-cutting of rain forests are some of the leading causes of
land degradation worldwide:“In the Amazon Rainforest of Brazil for example,
an area the size of a football field is‘cut every second, leaving vast swaths of
land vulnerable to wind, rains and floods that cause erosion.

The Amazon is the biggest deforestationfrant in the world and interventions are
urgently needed to prevent a large-scale, irreversible ecological disaster due to
man.

Deforestation by activities such as unsustainabledogging, ranching and mining
can lead to fast and widespread erosion of rain—forest soils. Logging
companies clear-cut large areas of rain forest, and‘ranchers with little land
allow cattle to overgraze delicate rain forest grasses. Agriculture is another
major cause of deforestation and erosion.

[Source: http://wwf.panda.org/our_work/forests/deforestation_fronts/deforestation_in_the
amazon/. Accessed on 28 August 2018.]

2.3.1 According to the extract, name ONE human activity that has led to

soil erosion. (1x1) (1)
2.3.2 List TWO physical factors that have caused soil erosion. 2x1) (2
2.3.3 State ONE way in which soil erosion will impact on the environment of
the Amazon rain forest. (1x2) (2)
2.3.4 Explain the effects of soil erosion on the environment in the Amazon
rain forest. (2x2) (4)
2.3.5 Explain THREE sustainable management strategies that can be used to
prevent and control soil erosion in the Amazon rain forest. (3x2) (6)
Copyright reserved Please turn over
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Refer to the extract below on coal as a conventional energy source.

Electricity load‘shedding will halve GDP growth this year and cost the country
275 000 in potentialjobs, say analysts.

In June, president Cyril'Ramaphosa announced that the requirements for the
private sector to obtain a.licence for own power generation had been relaxed,
with the official change to be made in a government gazette within the next two
months.

Ramaphosa has raised the threshold to 100 MW. According to Ramaphosa,
firms will also be allowed to sell any excess power generated back into the grid.
However, it could take more than a year 10 see the effects of the change, says
economists at the Bureau for Economic Research (BER).

“In terms of the impact on the economy, it'is. important to realise that own
generation (renewable) projects can take up to*18 months to complete. This
does imply that periodic load shedding is likely to remain.a feature of the South
African landscape in the foreseeable future.”

The South African Photocatalytic Association estimates that the lifting of the
licensing cap could add up to 5 500 MW of additional power‘over the next two
years.

“The key message here is that in line with our thinking since the end of 2019,
there is scope to be more optimistic about the prospects for the South African
economy beyond 2022,” the BER said.

[Adapted from http.//www.ber.ac.za]

2.4.1 Name the power utility that provides South Africa with electricity.
(1x1)

2.4.2 According to the extract, what are the effects of load shedding on the
economy of South Africa? (2x1)

2.4.3 State the causes of load shedding in South Africa. (2x1)

2.44 Explain how president Cyril Ramaphosa’s decision positively impacted
on the amount of electricity available to South Africa. (1x2)

(1)

(2)
(2)

(2)
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2.4.5 Why does South Africa favour a non-conventional source of energy,
such as coal, to be its main source of energy? (2x2) (4)

2.4.6 Explain the negative impact that coal mining has on the environment.
(2x2) (4)

2.5 Refer to the fact file below which shows the advantages and disadvantages of
wind energy as a non-conventional source of energy.

ADVANTAGES ANDDISADVANTAGES
of wind power

ADVANTAGES DISADVANTAGES

Rencwakie and clean
source of energy

Intermittent

Low operating cosLs

MNoise and
visual pollution

Efficient use of
land space

Some adverse
environmental impact

[Source: energysage.com]

2.5.1 Why is wind a renewable source of energy? (1x2) (2)

2.5.2 How can wind power as a renewable source of energy reduce
greenhouse emissions? (1x1) (1)

2.53 State the negative environmental reasons for using wind as a source

of energy. 2x1) (2)
2.5.4 Why has South Africa’s location favoured the development of wind
energy? (1x2) (2)
2.5.5 In a paragraph of approximately EIGHT lines explain the benefits of
wind energy to the economy of South Africa. 4x2) (8)
[60]

TOTAL SECTION A: 120
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SECTION B: GEOGRAPHICAL SKILLS AND TECHNIQUES

QUESTION 3

Coordinates: 33° 22' 13" S 19° 18' 55" E

GENERAL INFORMATION ON CERES

__)z
-
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Ceres is the administrative centre and
largest town of the Witzenberg Local
Municipality in the Western Cape Province
of South Africa. Ceres serves as a regional
centre for the surrounding towns of
Worsley, Tulbagh, Op-die-Berg and Prince
Alfred Hamlet. It is situated in the
Warmbokkeveld Valley about 170 km
north-east of Cape Town.

Ceres is located at the north-eastern
entrance to Michell’s Pass and the old R46
route north between Cape Town and
Johannesburg, which was later replaced by
the N1 highway, which traverses the
Breede River Valley to the south.

Ceres has many industries that cater for its
agricultural activities and is well known for
fruit juices exported worldwide bearing the
town’s name.

The following English terms and their Afrikaans franslations are on the topographic

map.

ENGLISH AFRIKAANS
Diggings Uitgrawings
Firebreak Voorbrand
3.1 MAP SKILLS AND CALCULATIONS

The questions below are based on the 1 : 50 000 topographic map 3319 AD
Ceres, as well as the orthophoto map of a part of the mapped area.

Calculate the area in metres of feature 1, demarcated in a white block D4, D5,
E4 and E5 on the orthophoto map, if the length is 2,7 cm and the breadth is
2,0 cm. Show ALL calculations. Marks will be awarded for calculations.

Formula: Area = Length x Breadth

Copyright reserved
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3.2 Refer to the cross-section below from N in block E3 to O in block C4 on the
topographic map, which is the arterial route taken to Ceres.
500
Y
460
= x /
o 440
R /
A o
T = 420
v /
T £ 400
£ 2 /
k)
= E 380 _,_/
360 /
340 /=
N O
3.2.1  Name the following features on the cross-section above:
(@) The monument at X that one would pass on the R46.
(1x1) (1)
(b) The landform that the arterial road follows through the
Witzenberg Mountains! 1x1) (1)
3.2.2 The slope between Nand Y is ...
A  gentle.
B  convex.
C concave.
D  uniform. (1x1) (1)
3.2.3 Calculate the vertical exaggeration of the cross-section between
N and O. Show ALL calculations. Marks will be awarded for
calculations. (4x1) (4)
) ] ] _ Vertical Scale (VS)
Formula: Vertical Exaggeration = Horizontal Scale (HS)
3.3 MAP INTERPRETATION
Refer to the Ceres orthophoto map.
3.3.1 Is the extract of Ceres orthophoto map an oblique or vertical aerial
photograph? 1x1) ()
3.3.2 Explain the answer to QUESTION 3.2.1. (1x2) (2)
3.3.3 The feature labelled 2 in block D1 on the orthophoto map has a

Copyright reserved

smooth texture. Give a reason. (1x2)

(2)
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3.4 3.4.1 The area 3 in block C3 on the orthophoto map indicates a ...
A sports field.
B  cemetery.
C  school.
D  hospital. (1x1) (1)
3.4.2 The man-made feature P on the topographic map is a(n) ...
A mine dump.
B  embankment.
C excavation.
D cutting. 1x1) (1)
3.5 Referto block A4 on the topographic map.
3.5.1 The main agricultural activity is ...
A cultivated land.
B  row of trees.
C orchard orvineyard.
D  protected area. 1x1) (1)

3.5.2 Provide TWO reasons evident on the topographic map, that favoured
the type of agricultural activity identified in QUESTION 3.5.1. (2x2)

3.6 GEOGRAPHICAL INFORMATION SYSTEMS (GIS)

Refer to the spatial features on the Ceres'topographic map and answer the

following questions.

3.6.1 Identify ONE man-made line feature in block A1.

(1x1)

3.6.2 Name ONE attribute of the road in block C4 that runs through Ceres.

3.7 Refer to blocks C4 and C5 on the topographic map.

3.7.1 Define the concept remote sensing.

(1x1)

(1x2)

3.7.2 The residents of Ceres have been complaining about water pollution
in the Dwars River. Explain how the local municipality could use
remote sensing to assist in solving this problem of water pollution.

Copyright reserved

(2x2)

(4)

[30]
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